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NEW QUESTION 1
Given the following classes:

public class Emplovee |
public int salary;

public class Manager extends Employee |
public int budget;

public class Director eXtends Manager
public int stockOptions;
}

And given the following main method:

public static void main(String([] args) {
Employee employee = new Employee():

Manager manager = new Manager/():;
Director director = new Director();
//line nl

}
Which two options fail to compile when placed at line n1 of the main method? (Choose two.)

A. employee.salary = 50_000;

B. director.salary = 80_000;

C. employee.budget = 200_000;
D. manager.budget = 1_000_000;
E. manager.stockOption = 500;

F. director.stockOptions = 1_000;

Answer: CE

NEW QUESTION 2

Given the code fragment:

public static void main(String[] args) {
int datal[]l] = {2010, 2013, 2014, 2015, 2014};
int key = 2014;

int count = 0;
for {int e: data) {
if (e = key) {

continue;
count++;
}
I
System.out.print (count + " Found");
}
What is the result?

A. Compilation fails.
B. 0 Found
C. 1 Found
D. 3 Found

Answer: A

NEW QUESTION 3
Which two class definitions fail to compile? (Choose two.)
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A
abstract class A3 {
private static int i;
public wvoid doStuff () {}
public A3(){}
}
B
final class Al {
public Al(){}
}
C
private class A2 {
private static int i;
private A2() {}
}
D
class A4 |
protected static final int 1 = 10;
private R4 () {}
}
E
final abstract class A5 |
protected static int i;
void dostuff () {}
abstract wvoid doIt();
}
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CD

NEW QUESTION 4
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is mandatory.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a single value.

Answer: D
NEW QUESTION 5
Given the code fragment:

int n []
for (int

] = 441, Bk, 42, 4 k¥
= n.length-1; 1 >= 0; i—} {

[
i
- L

For: fant y 2 nlaly o
System.out.print (vy};

What is the result?
A. 1324
B. 2313
C. 3142
D. 4231

Answer: D
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NEW QUESTION 6
This grid shows the state of a 2D array:

0 o

X

The grid is created with this code:

char[][] grid = new char[3][3];
grid[1][1] = ‘X’;

grid[0] [0] = *0’;

grid[2][0] = “X’;

graid[0][1] = *0";

grid[2][2] = “¥X’';

grid[1][2] = *0;

f/line nl

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?

A. grid[2][1] = X;
B. grid[3][2] = ‘X’;
C. grid[3][1] = *X;
D. grid[2][3] = ‘X,

Answer: D

NEW QUESTION 7
Given:
interface Readable |
public void readBook ()
public void zetBookMark () :
h

abztract clasz Book implements Readable | f4 line nl
public veoid readBook () { 1}
£/ line nZ

h

clas=s EBook extends Book | if ine n3
public veoid readBook () { 1}
A/ line nd

}

And given the code fragment: Book bookl = new EBook(); book1.readBook();
Which option enables the code to compile?

~ A) Replace the code fragment at 1ine nl with:
class Book implements Readable |

~ B)Y At 1ine nZ2 insert:
public abstract void setBookMark();

) Replace the code fragment at line n3 with:
akbsztract «lass EBook extends Bool |

D) At 1line n4 insert:
public wvoid sgetBookMark() {

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 8
Given:
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}

What is the result?

A.3456
B.3436
C.5456
D.3646

Answer: C

NEW QUESTION 9
Given the code fragment:

args)

LocalDateTime dt = LocalDateTime.of (2014,

dt.plusbDays (30) ;
dt.plusMonths (1) ;

System.out.println{dt.format (DateTimeFormatter.IS0 DATE TIME));

What is the result?

A. An exception is thrown at runtim
B. 2014-07-31T01:01:00

C. 2014-07-31

D. 2014-09-30T00:00:00

Answer: B

NEW QUESTION 10
Given the code fragment:

abstract class Toy {
int price;
Jf line nl

h

Which three code fragments are valid at line n1?

Passing Certification Exams Made Easy

{

o

visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 1z0-808 dumps in VCE and PDF From SurePassExam
Ll Sure PaSS https://www.surepassexam.com/1z0-808-exam-dumps.html (223 New Questions)

A
public static void insertToy() {
/* code goes here */
}
B
final Toy getToy() {
return new Toy():;
}
C
pubklic void printToy():
D
public int calculatePrice() {
return price;
}
E
public abstract int computeDiscount();
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CDE

NEW QUESTION 10
Given:

interface I {
public void displavyI():
}
abstract class C2 implements I {
public void displayC2() {
System.out.print ("C2") ;

}
class Cl extends C2 {
public void displayI() {
System.out.print ("Cl1l");

}

And the code fragment:
C2 objl = new C1();
I obj2 = new Cl();

C2 s = (C2) obj2;
It =abyl:
t.displavI():
s.displavyC2 ()

What is the result?

A. Cl1C2

B. C1C1

C. Compilation fails.

D. C2C2

Answer: A
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Explanation:

= lund x +

L] SIG interface I {
public void displayI();
}
abstract class C2 implements I {
public void displayC2({) {
System.out.print("C2");
}
}
class Cl extends C2 {
public void displayI{) {
System.out.print("C1");

}
}

public class App {
public static void main(String[] args) {
C2 objl = new Cl{);
I obj2 = new Cl();

C2 s = (C2) obj2;
It = objl;

t.displayl();
s.displayC2();

4 s
Console 1 Console 2 Console 3
ClC2
Completed with exit code: 0

NEW QUESTION 12
Given the code snippet from a compiled Java source file:
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public cla=zs MyFile
{
public static void main (String[] args)
{
String argl = args[1];
String argl = args[Z];

String argl args[3];

System.cut.println(“Arg is ™ + arg3l);

}

Which command-line arguments should you pass to the program to obtain the following output? Arg is 2

A. java MyFile 132 2
B. java MyFile 2 2 2
C.javaMyFile12234
D. java MyFile012 3

Answer: A

NEW QUESTION 13
Given this class:

public cla=s Rectangle |
private doubles length;
private double height;

private doubls ares;

public woid sstlength (double length) |
this.length = length;

}

public woid sstHeight (double height) |
this._height = height;

}

public woid ssthrea() |

arez = l=angth*height;

}

Which two changes would encapsulate this class and ensure that the area field is always equal to length * height whenever the Rectangle class is used?

A. Call the setArea method at the end of the setHeight method.

B. Call the setArea method at the beginning of the setHeight method.
C. Call the setArea method at the end of the setLength method.

D. Call the setArea method at the beginning of the setLength method.
E. Change the setArea method to private.

F. Change the area field to public.

Answer: AE

NEW QUESTION 18
Given:

class Caller |
private void init {) {
System.out.println(™“Initialized”);

private void start () {

init():
System.ocut.println (“Started”) ;
}
}
public class TestCall {
public static void main(String[] args) {
Caller c — new Caller{):
c.start ()
c.init () ;
}
}

What is the result?
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A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 23
Given the code fragment:

LocalDate datel = LocalbDate. nowi() s
LocalDate dated = LocalDate.of (b, 20, 2014 ) ;

LocalDate dated = LocalDate.parse ("2014-06-20", DateTimeFormatter.IS0 DATE) ;
System.out.println("datel = " + datel);
Syztem.ocut.println("dated = " + datel):
System.out.println("dated = " + dated):

Assume that the system date is June 20, 2014. What is the result?

A
datel = Z014-06-20
dated = Z014-06-20
date3 = Z014-06-20
B

datel = 06/20/2014
date? = Z2014-086-20
date3 = Jun 20, 2014

C  Compilation fails.

D An exception is thrown at runtime.

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 27

Given the code fragment:
String[] strs = {"&", "B"};
int idx = 0;
for (String s : strs)

strs[idx] .concat (" element ™ + idx);
idx++;

}

for (idx = 0; idx < strs.length; idx+4)
System.out.println(strs[idx]);

}

What is the result?

A. AB

B. A element OB element 1

C. A NullPointerException is thrown at runtime.
D.AOB1

Answer: C

NEW QUESTION 30
Which three statements are true about the structure of a Java class? (Choose three.)

A. A class cannot have the same name as its field.

B. A public class must have a main method.

C. A class can have final static methods.

D. A class can have overloaded private constructors.

E. Fields need to be initialized before use.

F. Methods and fields are optional components of a class.

Answer: BDE

NEW QUESTION 31
Given:
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public class App {
public static void main(String[] args) {
int 1 = 10;
int 3 = Z20;
int k =(3 += 1}/ 5;
System.cut.print{i + ™ : ™ + 3 + ™ : ™ + k};

1
What is the result?
A.10:30:6
B.10:22:22
C.10:22:20
D.10:22:6

Answer: A

NEW QUESTION 32

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\-/ Exam Recommend!! Get the Full 1z0-808 dumps in VCE and PDF From SurePassExam
LI Sure PaSS https://lwww.surepassexam.com/1z0-808-exam-dumps.html (223 New Questions)

Thank You for Trying Our Product

We offer two products:

1st - We have Practice Tests Software with Actual Exam Questions

2nd - Questons and Answersin PDF Format

1z0-808 Practice Exam Features:

* 170-808 Questions and Answers Updated Frequently
* 170-808 Practice Questions Verified by Expert Senior Certified Staff
* 170-808 Most Redlistic Questions that Guarantee you a Pass on Y our FirstTry

* 170-808 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Y ear

100% Actual & Verified — Instant Download, Please Click
Order The 1z0-808 Practice Test Here

Passing Certification Exams Made Easy

visit - https://www.surepassexam.com


https://www.surepassexam.com/1z0-808-exam-dumps.html
http://www.tcpdf.org

